
Time: 1 Hour Paper Math 7 (T-1) Total Marks: 25

3rd Month, 4th Week, 5th Day Revision Test (4th Week)

Q.1. Choose the correct options.   (1 x 13 = 13)  
(i) In the sequence 30, 33, 36, _____ the next term is:

 30, 33, 36,_____ 
(a) 38 (b) 39 (c) 40 (d) 43

(ii) Which of the following is the polynomial? 
(a) (b) (c) (d)

(iii) (4, 3) lies in ______ quadrant:  _____(_4, 3)

(a) I (b) II (c) III (d) IV

(iv)

(a) (b) (c) (d)

(v) The example of linear equation in two variable is:


(a) 6x + 5y = 10 (b) 7x + 3y  4z = 0 (c) 8x = 2 + 9 (d) y = 1 + 3y

(vi) The solution of 2x  3 = 7 is:  2x _ 3 = 7

(a) 7 (b) 5 (c) 11 (d) 12

(vii)15x2  5x + 2 + 7x2  3x  8 = ?

(a) 22x2 + 8x  6 (b) 22x2  8x + 6 (c) 22x2 + 8x + 6 (d) 22x2  8x  6

(viii)By dividing 10x3y2 by 5xy we get:

(a) 2xy2 (b) 2x2y (c) 2xy (d) 2x2y2

(ix) The factorization of x8y6 _ x4y3 + x2y2 is:

(a) (b)

(c) (d)

(x) What number was subtracted to make the sequence 58, 56, 54, 52?

 58, 56, 54, 52

(a) 1 (b) 2 (c) 3 (d) 4

(xi) The nth term of the sequence 1, 3, 5, 7, ....... is:

 n 1, 3, 5, 7, .......
(a) 2n  1 (b) 2n + 1 (c) 3n + 4 (d) n2 + 1

(xii) The factorization of x2  4 is:  x2 _ 4

(a) (x  4)2 (b) (x  2) (x + 2) (c) (x  4)3 (d) (x  2)2

(xiii)Which of the following is the polynomial? 
(a) 8x2 + 2 (b) 9x2 + 5x1 (c) 2x2 + 5 (d)

Q.2. Answer the following questions: (2x4=8)  
(i) Ali has Rs. 50. He spends Rs. 5 each day. How much money does he have

left after 5 days?

 5  5  50 

(ii) Solve the linear equation:     
(iii) Factorize: 
                                            20x2 + 10x  210

(iv) When 18 is subtracted from six times a certain number, the result is 42.

What is the number?

 42  18 
Q.3. The sum of the ages of Abdul Hadi and Abdullah is 32. In two years

Abdul Hadi will be three times as old as Abdullah. How old are they

now?      (1x4=4)

 3  2  32 


1 1


